pT (top) (pTtt > 50)

— --3-- Herwig 7.2.1 default
—a4— Pythia 8.308 default
----- ¢ Sherpa 2.2.9 default

O L VP T T S -ﬁ—vm 37 remr L CW e VS ""'j' 7 -&- Q L ]‘|r& 'R .a ’ !! )
[ t'iﬂ_‘ €2 ".“t,"." YL T PP L“ wrm 'i' H 3 i_.j \_' F‘ l!l

4 ‘ S wgyls-q

£t -+
Pt ------=

- -
i

SR
~

I
P
___E o,

"z'-'.}'_ =

1960 GeV ppbar Top (parton level)

mcplots.cern.ch [arXiv:1306.3436]

0.5 -

_| : I 1 I.I | 1 +
=  HT 5
s 2F E g
g F .
S = $: u
- - i ]
N = N
N~ n R _
o HE
§ 1 I
o e .
I - St —
e B i
2
E | ]
x

RPN I R L e U S e W
0 100 200 300 400

Rivet 3.1.10, = 100k events

N

0.5



	Contents
	Page 1


